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FORMAT: two candidates and two examiners.

TOTAL DURATION: 16 to 18 minutes.

PART 1 - Informal interview personal questions - 4 minutes

Examples :

Leisure time

e What do you like doing in your free time?
e Have your free time activities changed in the last few years?
e Isthere any new free time activity you would like to do?

Time

e Are you good at managing your time?
e Do you use a diary or a calendar or an agenda?
e Do you think you waste much time?

Social networks

Do you use social networks much?

What kind of things do you put on your social network sites?

Do you think that using social networks has changed your life in any
way?

PART 2 - Describe and compare 2 photos and comment — 4 minutes (2 minutes per candidate
)
Example:
001 - Candidate A card part 2 — Games and Playing
Describe and compare the photos.

Say which of these games you prefer to play and why.

Question for Candidate B: Do you think the same?
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PART 3 — Collaborative task - 4-5 minutes

Talk about and try to reach an agreement on the questions in the centre of the diagram.
Before you begin you both have 1 minute to think about what you are going to say.

Parents and
Children

RELATIONSHIPS
What kinds of problems are

common in these relationships? =
Flatmates ]
Which do you think is the worst?

Brother and sister

Husband and wife

PART 4 - Conversation related to task 3 — 4-5 minutes.
Examiner asks some or all of the questions to both candidates.

¢ Have you experienced many of these problems?

e How did you try to resolve the problem(s)?

e Can you think of any other ways people could deal with these problems?
¢ How do you think money could cause problems in these relationships?

¢ And how can work affect some of these relationships?

e Do you think parents and children have different problems to those they had 50

years ago?
¢ And what about husbands and wives or boyfriend/girlfriend?
e In what ways do you think this type of problem may change in the future?




